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Question 3 (5 Grades, 40 minutes):

The following is the fixed assets section of the balance sheet for

joint stock company for 2009:

a manufacturing

The balance sheet as at 1/1/2009
ixed assets:

Land

Buildings

- Accumulated depreciation

Plant & equipment
- Accumulated depreciation

computers
- Accumulated depreciation

Furniturc & fixtures
- Accumulated depreciation

Motor vans
-Accumulated depreciation

Total net fixed assets

7000 000
(2000 000)

4000 000
(1500 000)

900 000
(450 000)

480 000
(70 000)

300 000
(100 000)

Assets

2000 000

5000 000

2500 000

450 000

410 000

200 000

10560 000

1- A new floor costing [..E. one million was added by July 2009.

Two lifts were added during the year costing L..E. 500000.

2- New production cquipment costing one million pounds was acquired, old

plant sold: its book value

L.E:
1..15.250000 was sold for L.L. 645000.

750000, accumulated depreciation

3- Old fashion furniture with book value L.E. 150000, and accumulated
depreciation ... 30000 was sold for L.E. 122000.

4- An old motor van costing L.E.
L.E.50000, was sold for L.E. 135000.

150000, accumulated depreciation

A major overhaul to another motor van has cost of L.E. 15000.
5- A new computer system was bought for L.E. 800000.
Required: Compute the depreciation expenses for 2009 from the view point of the

tax law no, 91 for 2005.

With my best wishes

Mohamed Wahdan, PhD
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Exampie
Pr(r> 2.086) = 0.025
Prir>1.725) = 0.05 for df = 20
Pr(iq > 1.725) = 0.10
Pr 0.25 0.10 0.05 0.025 0.01 0.005 0.001
af 0.50 0.20 0.10 0.05 0.02 0010 - 0.002
1 1.000 3.078 6.314 12.706 3.1821 63.657 318.31
2 0.816 1.886 2.920 4.303 6.965 9.925 2.3
3 0.765 1.638 2.353 3182 4.541 5.841 10.214
4 0.741 1.533 2.132 2.776 3.747 4.604 7.173
5 0.727 1.476 2.015 2,571 3.365 4.032 5.893
6 0.718 1.440 1.943 2.447 3.143 3.707 5.208
7 0.711 1.415 1.895 2.365 2.998 3.49 4.785
8 0.706 1397 1.860 2.306 2.89%6 3.355 4.501
9 0.703 1.383 1.833 2.262 2.821 3250 4.297
10 0.700 1.372 1.812 2.228 2.764 3.169 4.144
i 0.697 1.363 1.796 2.201 2718 3.106 4.025
12 0.695 1.356 1.782 2179 2.681 3.055 3.930
13 0.694 1.350 1.771 2.160 2.650 3.012 3.852
14 0.692 1.345 1.761 2.145 2.624 2.977 3.787
15 0.691 1.341 1.753 2,131 2.602 2.947 3.733
16 0.690 1.337 1.746 2,120 2.583 2.921 3.686
17 0.689 1.333 1.740 2.110 2.567 2.89% 3.646
18 0.688 1.330 1.734 2.101 2.552 2.878 3.610
19 0.688 1.328 1.729 2.093 2.539 2.861 3.579
20 0.687 1.325 1.725 2.086 2.528 2.845 3.552
21 0.686 1.323 1.721 2.080 2.518 2.831 3.527
22 0.686 1.321 1.717 2.074 2.508 2.819 3.505
23 0.685 1.319 1.714 2.069 2.500 2.807 3.485
24 0.685 1.318 L1711 2.064 2.492 2797 3.467
25 0.684 1.316 1.708 2.060 2.485 2.787 3.450
26 0.684 1.315 1.706 2.056 2479 27719 3435
27 0.684 1.314 1.703 2.052 2.473 2. 3.421
28 0.683 1.313 1.701 2.048 2.467 2.763 3.408
29 0.683 1.311 1.699 2.045 2.462 2.756 3.396
30 0.683 1.310 1.697 2.042 2.457 2.750 3.385
40 0.681 1.303 1.684 2.021 2.423 2.704 3.307
60 0.679 1.296 1.671 2.000 2.3%0 2.660 3.232
120 0.677 1.289 1.658 1.980 2.358 2.167 3.160
w 0.674 1.282 1.645 1.960 2.326 2.576 3.090

Note: The smaller probability shown at the head of each column is the area in one tail: the larger
probability is the area in both tails.

Source: From E. S. Pearson and H. O. Hartley. eds., Biometrika Tables for Statisticioans, vol.
1. 3c ed., table 12, Cambridge University Press, New York, 1966,
Reproduced by permission of the editors and trustees d of Biomerrika.
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Menoufiya University Governmental and international Accounting  Date: ‘ {

Faculty of Commerce 3" year — final Term Exam Time: 2 H
Dept. of Accounting 2014/2015 Degree: 15
Answer the Following Questions:

Q1:

(A) CNN corporation is multinational company that purchases merchandise from Breston,
Ltd. A supplier in the United Kingdom . On Sep. 1,2011, CNN purchases from Breston
merchandise costing $120,000 for £114,000 .On December 1,2011 CNN sent to Breston a
draft for the amount which Breston immediately converted to British pound. CNN Uses the
perpetual inventory system and prepares monthly financial statements. Selected exchange
rates for the British pound were as follows:

£1=

Sep.1,2011  Sep.30, 2011 Dec.1,2011
Spot rates :
Buying $1.5 $1.49 $1.45
Selling 1.52 1.51 1.48
Instructions :

Prepare journal entries (omit explanations) for CNN Corporation on Sep. 1, Sep.30, and
December 1,2011.

(B) On June, 1, 2014 The City council of Cairo, contracted to purchase cleaner
equipment from Nasr Company, the council paid the net value to the company.

The total value of the contract was L.E 5500000 and taxes were 10%.

On July, 20, 2014 Nasr Company has supplied equipment

Require: journalize the above transactions.

Q 2 : Gramado Company was created as a wholly owned subsidiary of Porto Alegre
Corporation on January 1, 2014 . On that date , Porto Alegre invested $42000 in Gramado’s
capital stock . Given the exchange on that date of $0.84 per cruzeiro, the initial investment of
842000 was converted into 50000 cruzeiro (Cz). Other than the capital investment on
January 1, there were no transactions involving stockholders’ equity in 2014 Gramado’s
cruzeiro- denominated financial statement for 2015 are as follows :

Income statement
2015
Cz
Sales 540000
cost of goods sold _(310000)
Gross profit 230000
operating expense (108000)
Income before tax 122000
Income taxes (40000)
Net i 82000
Statement of retained
Earnings
2015
Cz
Retained earnings , 1/1/2015 154000
Net income 82000
Dividends ( paid on 121/2015) (20000)
Retained earnings , 31/12/2015 216000




Question 3: (4 marks)

Hani;s Corporation processes a liquid component up to the splitoff point where two products, A & B
are produced and sold. There was no beginning inventory. The following material was collected for the
month of January:

Direct materials processed: 250,000 gallons (242,500 gallons of good product)

Production: A 147,500 gallons
B 95,000 gallons

Sales: A 140,500 at $110 per gallon
B 91,000 at $ 100 per gallon

The cost of purchasing 250,000 gallons of direct materials and processing it up to the splitoff point to
yield a total of 242,500 gallons of good product was $760,000.

A) When using a physical-volume measure, what is the approximate amount of joint costs that will be
allocated to products A & B?

B) What are the physical-volume proportions to allocate joint costs for A & B respectively?
end ot the questions.

Good Luck
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Faculty of Commerce.

Business Administration Dept.

Third Year Students, English Section.
Second Term - Final Exam. 2014/2015
Date: 25/5/ 2015.

Time: 2 Hours

Course: Negotiation Management
A.Prof.Dr. Amgad Hamed Omara

Answer the following questions:
Question : (1) t (7.5 Marks)

"Problems, complexities and crises are mainly representing the issues around which the negotiation process is
hub-revolving in all the life affairs, particularly those related to political, economic, and social aspects "

Show to what extent you can understand this dictum via highlighting the following items:

¢ Concept and characteristics concerning every single type of these problematic issues?
* practical examples to show the negotiator's capability to distinguish and diagnose each type?

¢ Different methods to use when resolving problems, treating p ies or even facing crises?

Question : (2) (7.5 Marks)
Discuss in detail just one of the following subjects:

« Democracy versus other types of leading negotiation team?
e Ethics, fairness, and trust in negotiation?
* Influence of culture on negotiation?

Best wishes
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Faculty of Commerce, Spring Semester. 2015
Accounting Department, English Section. Time: 2 hours.
Cost Accounting (2) Final Exam, (course code: 2306 ), 2015, 3" Year Students.
Answer the following questions & indicate the necessary calculativons
Question 1: ( 5 marks)

Farah Firm is interested in using the reciprocal cost allocation method. It has two support departments;
Maintenance & Data processing & two operational departments; Assembly & Finishing . Maintenance
department costs allocated on the basis of budgeted labor-hours & the data processing allocated on the basis of
machine’s working hours. The following data from operations were collected for analysis: (figures in dollars)

Item Support departments Operational departments
Maintenance | Data processing | Assembly Finishing
Budgeted manufacturing
overhead costs 350,000 75,000 225,000 125,000
budgeted labor-hours 500 3,500 5,000 8,200
budgeted machine 's working
hours 600 | 500 3,500 600

Required: 1.What is the complete reciprocated cost of each of; the operational departmentst?.
2. Compute the overhead rate per hour for each department and find out the total cost of the
two operational departments IF the company decided to operate 1000 machine’s hours for each?.

Question 2: ( 6 marks)
(A) Omer’s Textile Company sells shirts for men and boys. The average selling price and variable cost for
each product are as follows:
Men’s Boys
Selling Price $28.80 Selling Price $24.00
Variable Cost $20.40 Variable Cost ~ $16.80 - Fixed costs are $38,400.
Required:

What is the breakeven point in units for each type of shirt, assuming the sales mix is 2:1 in favor of men's shirts?

(B) Zeina, the president of a worldwide textile company, asked for information about the cost behavior of
manufacturing overhead costs. Specifically, she wants to know how much overhead cost is fixed and how
much is variable. The following data are the only records available:

Month Machine-hours Overhead Costs
February 1,700 $20,500 s
March 2,800 22,250
April 1,000 19,950
May 2,500 21,500
June 3,500 23,950

Required: Using the high-low method, determine the overhead cost equation. Use machine-hours as
your cost driver. Find out the total cost needed to work 5000 Machine-hours.

(S 2,7
e WP anl .
e S b s e 7 A

to be continued on the next page.



Q4: (A) The following data is related to the state budget for the fiscal year
2013/2014 (value in million L.E.):

Item

Budget year
2013/2014

Tax

Compensation for employees

Subsidies, grant, and social benefits

Collection from payment of foreign loans
1 loans

Acquisition of non financial assets

Payment of local loans

Acquisition of local financial assets

Interests

Ssies of local financial assets

“Foreign loans

Collection from payment of local loans 0
Purchase of goocfs and services | 1000
Collection from privatization process 560
Grants 200
Other expenses 1460
Other revenues 800
Issuing of stocks 300
Sales of forei%n financial assets 0
Acquisition o foreiﬁn financial assets 0
Payment of foreign loans 640

Required:
1- Surplus/deficit for the state budget.
2- Total deficit
3- Net of borrowing and loans payment
4- Compute ratio of resources ( GDP), ratio of expenditure to( GDP ) and ratio of
cash Surplus/deficit to GDP ) if you learn that GDP amounted to L.E 40000
(B) The following transactions werc made in the faculty of commerce- Helwan

university during April 2015,

1- Purchase spare parts with L.E 7200 from private company and issued
payment voucher for the amount of L.E 7150 on the treasury of the
faculty and the remaining is tax.

2- Itdrewa payment voucher for the amount of L.E 1810 on the public
treasury of Cairo governorate to private company for a maintenance
expense which amounted to L.E 2000,

3- Some payment vouchers were issued by the faculty.

* L.E 600 for newspaper subscription, paid by postal drafts
accompanied by voucher payment, after deduction L.E 12 for the
tax authority.

¢ L.E74 for cleaning supplies, paid by public treasury of city
council after deducting L.E 1 due tax.

If you learn that one of the previous voucher payments was paid and the other
voucher payment of cleaning supplies was returned as the corrected value of the
voucher has become L.E 65 only.

4- It drew a cheque for the amount of L.E 3920 which paid for water and
light usage.

Required: Journalize the above transactions in governmental unit books,



Page (2)

Q.3 (a) Given that cash collections from customers are £180,000 ,
cash disbursements are £250,000 , the beginning cash balance
is £30,000 , and the required ending cash balance is £24,000
The company must borrow :

1. £16,000 2. £40,000 3. & 64,000 Le & 76,000

(b) ABC company's production budget for the next months is

given below :

July August September October
Production's units 15,000 18,000 20,000 16,000
Bach unit of the product uses five ounces of raw materials .
At the end of june, 11,250 ounces of material were on hand .
The company wants to maintain an inventory of materials equal
to 15% of the following month's production needs ., Given these
data, prepare the materials purchases budget for the third
quarter . =

Q.4(a) Sales and average operating assets for company X and company

Y are given below : Company X Company Y
S81eB cssiecassnssesnoncsassess & 205000 £ 50,000
Average operating assets ..... £ 8,000 £ 10,000

What is the margin that each company will have to earn in
order to generate a return on investment of 20% ?

(b) Hope company's working capital is £120,000 and its current
liabilities are £240,000 , What is the company's current ratio?

(¢) Blue Eyes Company's net income last year was £55,000 and its
interest expense was £20,000 ., Total assets at the beginning of
the year were £660,000 and total assets at the end of the year
were £620,000 ., The company's income tax rate was 30% e

What is the company's return on total assets for the year ?

All the best cesees
Prof. Dre. ReA.Radwan
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Faculty of Commerce.

Business Administration Dept.

Third Year Students, English Section.
Second Term - Final Exam. 2014/2015
Date: 25/5/ 2015.

Time: 2 Hours

Course: Negotiation Management
A.Prof.Dr. Amgad Hamed Omara

Answer the following questions:
Question : (1) (7.5 Marks)

"Problems, complexities and crises are mainly representing the issues around which the negotiation process is
hub-revolving in all the life affairs, particularly those related to political, economic, and social aspects "

Show to what extent you can understand this dictum via highlighting the following items:
e Concept and characterlsti_cs concerning every single type of these problematic issues?

* practical examples to show the negotiator's capability to distinguish and diagnose each type?
* Different methods to use when resolving probl treating plexities or even facing crises?

Question : (2) (7.5 Marks)
Discuss in detail just one of the following subjects:

* Democracy versus other types of leading negotiation team?

*  Ethics, fairness, and trust in negotiation?

* Influence of culture on negotiation?

Best wishes




Final-Second Term Exam
English Language Section

Faculty of Commerce The Level :Third Year {
Economic Department The Course : Public Finance
Time : 2 Hours

The Date : 30/5/2015

Answer the Following Question:
Q1: Explain Why the Following Statements are True or False (Write a comment):

1- A free market usually generates three kinds of efficiency.

2- Always government produce a public good.

3- Assume there is no externality. The inefficiency from the tax equals the area of a
triangle to the right of the intersection of the original D and S curves.

4- With many families, the government should assign each family a tax price that makes w
the family prefer the social optimum.

§5- Economists emphasize that charging the same price P to all firms emitting pollutant X
causes a given total reduction in emissions to be achieved at minimum cost.

Q2: Fill in the blanks of the income tax return for this family ( assume none of the

income is capital gains or dividends), if the income tax schedule is as follows:

Taxable income Tax Rate

$0 to $ 8000 10%

{ $8000 to $ 20000 15%

$20000 to $ 32000 20%

532000 to$ 4400Q 1 ) ~_5_%

Over $ 44000 == 30% e
Total Inconte 850,000
- Adjustments - 82,000
e |

b - 87,000
& - 86,000
- Credits - 51,000
- Withholding - §3,000

Best wishes,
Dr. Ahlam Morsy
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FACULTY OF COMMERCE - MENOUFIA UNIVERSITY ENGLISH BRANCH esesseccescs
THE THIRD YEAR FINAL EXAM IN MANAGERIAL ACCOUNTING - seesens
EXAM TIME : 2 HOURS .

"..ﬁ.’l""ﬁii’l'ﬁi'i"Qﬁ""l.l.’*"ﬁ.llﬂl’ﬁ'..QD."“.*’Q*'I&..Q&*"*.Q

ANSWER THE FOLLOWING QUESTIONS IN FULL :-

Q.1 For each of the following statements state the question's No. ONLY,
and then place a (V) or an (X) to indicate whether it is true or
fals :~

. (a) Financial accounting and managerial accounting both rely on the
same underlying financial data .
(b) A company with a degree of operating leverage of 4 would expect

. net income to increase by 200% if sales increased from £100000

\ to £150000 .
(c) One of the distinct disadvantages of a budget is that it can

A\NC not help to uncover potential bottlenecks before they occur .

~— (d) Contribution margin and segment margin mean the same thing .
(e) The salary paid to a store manager is a traceable fixed
expense of the store .
(£) Future costs that do not differ among the alternatives are not
relevant in a decision .
(g) Variable costs are always relevant costs .
(h) Opportunity costs are recorded in the accounts of a company .
(i) A sunk cost is an avoidable cost .
(j) The inventory turnover ratio is equal to the average inventory
balance divided by the cost of goods sold .
EREREEERRRERRRE RN
Q.2 State the question's number ... Choose the true answer.. and then
show your calculations to prove it .eees
(a) Selected data about Al-Ngah company's manufacturing operations
at two levels of activity are given below :
- Number of units produced eesessssssssses 10,000 15,000
- Total manufacturing coSts seseecesssssses€157,000 £225,000
- Direct material cost per unit (variable) £l £y
- Direct labor cost per unit (variable) £6 £6
e Using the high-low method,What is the cost formula for
manufacturing overhead ?

1. Y= £20,000 + £3,00 X 2. Y= £21,000 + £3,60 X
3. Y= £22,000 + £3,62 X L. Y= £23,630 + £3,63 X

(b) Al-Nasr Co., has sales of £200,000 with variable expenses of
£150,000 and fixed expenses of £60,000 , and a net loss of
£10,000 . How much would the company have to sell in order to
achieve a net income of 10% of sales ?

1. £375,000 2. £451,000 3.£431,000 4. £400,000

(c) Al-Amal Company's variable expenses are 75% of sales . At a
sales level of £400,000 , the company's degree of operating
leverage is (8) « At this sales level, fixed expenses equal :

1. & 87,500 2. £100,000 3, £50,000 L. £75,000

(d) Last year, Al-Iman Co., reported profits of £4,200, It's
variable expenses totaled £66,000 or £6 per unit, The unit
contribution margin was £3,00. The break-even point in units
for this company is :

1. 11,000 2. 9,600 3. 22,000 4. 12,400

(e) Division X had an ROI last year of 15% . The division's
minimum required rate of return is 10% . If the division's
average operating assets last year were £450,000, then the
division's residual income for last year was :

l. £67,500 2, £22,500 3. £37,500 L4 £45,000

Please, see page 2



